5T 3L =® K 15
T EHTR 4 oy _ RITHEEE
Tor oo s @R 5[ o PAREEREECRTSERS
% | i eg ® 1% #
&) AT £ 1.0 1,9 2. 3 1. offi 1. 0
W i T X1 — | B - - - -
T2 AT i 0.9 ¥ 190 2. 3% 1. 0ff 1.0
CHREL T Ea1 0.9 [l 1.9l 2. 30 1.0 1.0
A AT)I[ET Ealin - | R - - - -
B\ g 1.2 [l 1ol 2. 3l 1. ol 1.0
FFREMT Eeed 40 | 1.1 [HE 190 2. 30 1. 0@ 1.0
BT Ecti] 11t 1. ot 2. 30t 1. Ol 1. 0
NG Eot:) 1.2 |t 1.9t 2. 30 1. 0ff 1. 0
A IR ARG — | B J%iﬁtiégkt‘ Lb T L
L RCELSR O ittt 40 | L1 pFE 1o 2. 30 1. 0B 1.0
LT Ei 111, ol 2.3l 1. ot 1.0
&| R IT )1 st 1.2 i 1. ol 2. 4h 1.4l 1. 4
Ut e T U e E=E) 1.2 |l 1Ol 2. 46 1. 460 1. 4
Uk 1 HT A7 I £ 1Ol Lol 2. 40 1. 40 1. 4
Uk i BT T Ecd 1O [l 1. o0 2. 40 1. 4560 1. 4
I e WT R A/ T =9 1.2 Wl 1o 2. 4 1 4 1. 4
s e T e/ g 1.2 (il 1O 2, 4 1, 450 1. 4
Ui 7 T e 4k st 1.3 ffifi 1.9l 2. 4t 1. 1.4
U i MY A gaeid 11 [RE 1OE 2. 4 1. 4 1. 4
U T T S 2 ] — 2. 4 1 4 1.4
T BT AR L g 11 [ 1, OfE 2. 40 1. 4 1. 4
Z| Fmer Eet 11 [l 1. ot 2. 360 1. 0l 1. 0
AT £ 40 | 1.0 [l 19t 2. 30 1. OfE 1.0
FET £ 0.9 [ 1. 90 2. 30 1. 0% 1.0
fit BB RT B — | B# T B I
S| SR £ = | BABR | I b T b T L
SRIT Ee) — | AR b b T b T L




5T 3L =®OH 2
T EHTR 4 oy _ RITHEEE
i e kel @ W PR e s .,
% | i eg ® 1% #
E WO E1TH E=i 40 | 1.2 B 1 o0 2. 30 1. o 1. 0
U] FORHET SR 40 | L1 pRE 1.9 2.3%E 1.0 1.0
L ERLAA 0 it 30 | 1.1 et 1.9pE 2. 3E 1. OfE 1.0
FikFLIT Eat: 1.1 [ 1.9t 21& 1. Offi 1.0
HTHEET Ealin 40 1.2 - - - -
AT BB — | BRER - - - -
7ol R SERT BB 40 | 1.1 R bk b b v b
LRELAS 0 it 40 | 1.1 1 o0 2. 39 1.
M/ iy Eotc 0.9 [Bl 1.9p 2. 3l 1.
EZHETRI E=d 1.2 [l 1.6 2.2
oz TR AL £ 1.2 il 1. 60 2. 250 1. 450 1.
EZHET AN ESCY 10l 1, 68 2.2
EZHNT LD S 1.2 [l 1.6l 2. 200 1.4
EZMITRE Eoi 1.0 [l 1.6l 2.2
E T LAY T 10 1.6l 2. 20 1.
FE 2T EZH K/t 30 | 1.2 60 160 2. 200 1.
LRELAS D itk 30 | 1.1 il 1.2@ 2. 20 1.
EZHU TR i 1.2 [l 1. 60 2. 2 1,
E 2 HETEH st 1.0 [l 1. 60E 2. 20 1.
EZHET R g 11l 1.6l 2. 2 1. 45
2 T Ece 11 [ 1.6 2. 2t 1.
Bl gLy gt - | R - - - -
o BEET Eceid 1.1 #0192, 3k 1.0t 1. 0
&| gy £ 1.1?@@1.9[:2. M1 Oft 1.0
E{TATSF L £ L1t L7l 1Sl 1.2 1.2
AT R Eati L2l L7t 18l 1. 26t 1.2
TR Eai L1 170 1.8l 1. 2 1.2
ETITEH ey 1.1l I.TT’ﬁE 1. 8t 1. glfﬁn; 1.2




AR 3R (R 3E
AR 4 ;TR EITREE

Tur rm) ward] B M w6 [P BEREERBECRTSEES
% | i eg ® 1% #
& BTN A i 1.3 [l 1. 70 1. 8 1.2
T ITHT X1 L1 1.7/ 1. 8% 1. 20 1.2
BT i L1t 1L 7fel 1.8l 1. 2 1.2
[ pan i ot Eat: 1.3 [l 1.7 1. 8E 1. 280 1.2
2 paniiy=pan Excd 30 | L1fBE 178 1.8 i 1.2
EITIT R 1 1Ol 17t 1. sl 12t 1.2
EVTITAR g L1 6 170 1.8t 1. 26 1.2
EITITILT Ecti] 1.3 [l 1.7t 1. sl 1. 2l 1.2
EITATILE Eotc 116t 1.7} 1.8 i 1.2
75 BFIT S 11|l 1.0l 2. 3% 1.0 1.0
BT WA 30 | L1 L 70 2.0 il 0. 8
ERCLAS 00 Btk L1l 1, 7t 2. ol 0. 8l 0.8
3PN E=i 0.8 [#l L 7 2. Of i 0.8
ZRETIR i 1.0l 1. 70 2. Ot 0. 8t 0.8
ZR T H e Est 1.0 [l 1. 7jE 2. Off 0. S 0.8
(o) SRET Ect — | B - - - -
7| Bfx GIET s 1.3 il 1. O 2. 3E 1. o 1. 0
i TET g2 1.2l 1950 2. 360 1. 06 1.0
O\ BUEET 1 ~3TH |2 — | B - - - -
BT geuid 0.9 [l 1. 9t 2.
T i 1.1 1.9
5 HTHT % R 1 — | BEMR (B b MR L Y T b
LEELLA O g 40 | 1.1 JEHH
RHERBYL~3TH |[BHEhig — | B e B I
RERLLA 0 it 0 | 11 = T T
k| i HET Eati 1oL 1opE 2. 36 1. O 1. 0
Ly S i BV Y 0 fE% P S X0k FEO1 9T 2. 30 1. Ol 1. 0
_RELASR O Hifgl




AR 3R (R 4
AR 4 ;TR EITREE

R -
% | 5 " i 1% #
EJR Iy 1 BadEinw 40 1. 1 | Bh 3R b BT b T b R
2 _EFERIAO Hig 30 | L1 pWE 1.9 2. 3%E 1. 0f%E 1.0
A3 ZIFREIT IR i 116 1.8l 2. o0 1.4t 1. 4
ZFRET RN £ 1.0 j# 1.
ZHEERT H R Bt 1.2 j# 1
= HFSENT R g 1.1 8 1.
= HHERTE AR Eat:d 1.2 il 1.
= ISENTH K Ecti] 11l 1.
ZHHENT i IR £t 1.0l 1.
ZIREIT 4R £ 11§ 1.
I HETIERD ] e 10Ol 1.
ZIHRETTRA ESCY 1.2 1.
ZIHHEITIE e ESEREL 40 | 1.2 1
EFEEIS O bk 1.1 1.
ZHFETH / oT T 1.1 1.
ZR¥1~2TH |2 — | B&HR AL
=R 3TH B i S A — | BRHR |k
LFELIS O HfK 40 | L1 fE 1.9t 2.
T REPET st 40 | L1 (HE 1ot 2. 30 1. ofE 1
ol [T gt 116 1.9 2.
b AT g 0.9 | 1.9l 2. 3
K| #AANT gt 40 | 1.0 ¥ 1. 958 2.
L £ 1.2 %t 1.
| BRET Ex:=1 0.9 fl 1.




